Converting Between ul, ml, cl and 1 (A)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base

+ = e = > X
G M k h dai 'd ¢ m 2 n
987654321:_?"5-1-2-345-6789

1. Convert 0,0061 cL to uL.

2. Convert 2.200.000.000 uL to L

3. Convert 7600 mL to L

4. Convert 0,08055 mL to uL.

5. Convert 98 mL to cL

6. Convert 87.000 cL to L

7. Convert 0,000232 cL to uL

8. Convert 0,607 mL to uL.

9. Convert 0,00053 L to uLL

10. Convert 499,3mL to cL
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Converting Between ul, ml, cl and 1 (A) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

10.

Base
A o
5 % s § gt ig E 2 3 £
Bo g 2 2 9 15 8 E g g
: : i : : —p» X
G M k h da, *d ¢ m 3 n
9 8 7 6 5 4 3 2 15 -1 -2 3 4 -5 6 -7 -8 -9
Convert 0,0061 cL to uL.

0,0061 cL X 10X 10X 10X 10 = 61 uL.

Convert 2.200.000.000 uL to L
2.200.000.000pL +10+10+10+10+10+10 = 2200 L
Convert 7600 mL to L

7600mL +-10+10+-10=7,6 L

Convert 0,08055 mL to uL.

0,08055mL X 10 X 10 X 10 = 80,55 uL.

Convert 98 mL to cL

98 mL =10 =9,8cL

Convert 87.000cL to L

87.000cL +-10+10=870L

Convert 0,000232 cL to uL.

0,000232cL X 10X 10X 10X 10 = 2,32 uLL
Convert 0,607 mL to uL.

0,607 mL X 10 X 10 X 10 = 607 uL.

Convert 0,00053 L to uLL

0,00053 L X 10X 10X 10X 10X 10 X 10 = 530 uL.
Convert 499,3 mL to cL

499,3mL + 10 = 49,93 cL
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Converting Between ul, ml, cl and 1 (B)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base

~ < i T ' ' > X
G M k h dai 'd ¢ m 2 n
9 8 7 6 5 4 3 2 1:0i1 2 3 4 5 6 7 8 9

1. Convert 4.949.000 uL to mL

2. Convert 6,099 L to cL

3. Convert 2,03 cL to uL.

4. Convert 235.000 uL to cL

5. Convert 211.400.000 mL to L

6. Convert 9,63 mL to uLL

7. Convert 0,849 cL to mL

8. Convert 366 cL to mL

10.

Convert 40.140.000.000 uL to L

Convert 3.293.000.000 uL to L
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Converting Between ul, ml, cl and 1 (B) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
. ' — e
"Bh S % & <' s 8 E £ =
- < : — : : —p X
G M k h da, *d ¢ m 2 n
9 8 7 6 5 4 3 2 1:0:i-1 2 -3 4 5 -6 -7 -8 -9

1. Convert 4.949.000 uL to mL
4.949.000 uL =10 =10 = 10 = 4949 mL
2. Convert 6,099 L to cL
6,099 L X 10 X 10 = 609,9 cL
3. Convert 2,03 cL to uL.
2,03cL X 10X 10x 10 x 10 = 20.300 uL.
4. Convert 235.000 uL to cL
235.000 uL =10 +10+ 10+ 10 = 23,5cL
5. Convert 211.400.000 mL to L
211.400.000mL +-10+10+10 = 211.400L
6. Convert 9,63 mL to uLL
9,63 mL X 10X 10 X 10 = 9630 uL
7. Convert 0,849 cL to mL
0,849 cL X 10 = 8,49 mL
8. Convert 366 cL to mL
366 cL X 10 = 3660 mL
9. Convert 40.140.000.000 uL to L
40.140.000.000pL =10 +10+10+10+10+10 =40.140L
10. Convert 3.293.000.000 uL to L
3.293.000.000 uL =10 +10+10+10+10+10 = 3293 L
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Converting Between ul, ml, cl and 1 (C)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
- <« | T ' ' > X
G M k h dai 'd ¢ m 2 n
9 8 7 6 5 4 3 2 1:0i1 2 3 4 5 6 7 8 9
1. Convert 0,0000099 L to uL.
2. Convert 56.000 mL to cL
3. Convert 0,00168 mL to uL
4. Convert 895.900.000 uL to cL
5. Convert 878.000 mL to L
6. Convert 0,00000081 L to uL.
7. Convert 29,6 mL to cL
8. Convert 708.000 uL to cL
9. Convert 0,00045 mL to uL.
10. Convert 48,3 L to cL
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Converting Between ul, ml, cl and 1 (C) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base

T giga
centi

+ milli

1 nano

> X

10.

o 2 { mega
w =~ T kilo
N = T hecto
— & T deca
— o T deci
& = T micro

e Q

e
w B
o B

1
\9)
~

1
oo
O

Convert 0,0000099 L to uL

0,0000099 L X 10 X 10 X 10 X 10 X 10 X 10 = 9,9 uLL
Convert 56.000 mL to cL.

56.000 mL =+ 10 = 5600 cL

Convert 0,00168 mL to uL.

0,00168 mL X 10 X 10 X 10 = 1,68 uLL

Convert 895.900.000 uL to cL

895.900.000 uL =~ 10 =10 =10 =+ 10 = 89.590 cL
Convert 878.000 mL to L

878.000mL + 10+ 10+ 10 =878 L

Convert 0,00000081 L to uL

0,00000081 L x 10 X 10 X 10 X 10 X 10 X 10 = 0,81 uLL
Convert 29,6 mL to cL

29,6 mL - 10 = 2,96 cL

Convert 708.000 uL to cL

708.000uL - 10+ 10+ 10+ 10 = 70,8 cL
Convert 0,00045 mL to uL.

0,00045mL X 10 X 10 X 10 = 0,45 uLL

Convert 48,3 L to cL

48,3L x 10X 10 = 4830cL
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Converting Between pl, ml, cl and 1 (D)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
g g ° 8 gl iggs -
=) £ g 2 5 15 8 B g &
- < : — : : > X
G M k h da, *d ¢ m 2 n
9 8 7 6 5 4 3 2 1:0:i-1 2 -3 4 -5 -6 -7 8 -9
1. Convert 2870 cL to L
2. Convert 13,9 cL to mL
3. Convert 0,000549 cL to uL
4. Convert 41.900.000 uL to L
5. Convert 15.800 mL to cL
6. Convert 5.360.000 uL to mL
7. Convert 75.130.000 uL to mL
8. Convert 0,008675 cL to uL.
9. Convert 0,00000024 L to uL
10. Convert 934,2 L to mL
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Converting Between ul, ml, cl and 1 (D) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base

T giga
centi

+ milli

1 nano

> X

10.

o 2 { mega
w =~ T kilo
N = T hecto
— & T deca
— o T deci
& = T micro

e Q

e
w B
o B

1
\9)
~

1
oo
O

. Convert 2870cL to L

2870cL +10+10 = 28,7 L

Convert 13,9 cL to mL

13,9cL X 10 = 139 mL

Convert 0,000549 cL to uLb

0,000549 cL X 10 X 10 X 10 X 10 = 5,49 uLL

Convert 41.900.000 uL to L

41.900.000uL +-10+10+10+-10+-10+-10=419L
Convert 15.800 mL to cL

15.800 mL = 10 = 1580 cL.

Convert 5.360.000 uL to mL

5.360.000 uL =10 =+ 10 =10 = 5360 mL

Convert 75.130.000 uL to mL

75.130.000 uL =10 = 10 =10 = 75.130 mL

Convert 0,008675 cL to uL.

0,008675cL X 10 X 10 X 10 X 10 = 86,75 uL

Convert 0,00000024 L to uL

0,00000024 L x 10 X 10 X 10 X 10 X 10 X 10 = 0,24 uL.
Convert 934,2 L to mL

934,2L X 10 X 10 X 10 = 934.200 mL
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Converting Between ul, ml, cl and 1 (E)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

B_a_s_e
< on o © 8¢ 5 a8 = 3) g
] — [ ' — o p—

B 2 ¥ 2 31 18 8 E E g
— < : T : : > X
G M k h da, *d ¢ m M n
9 8 7 6 5 4 3 2 1:0:i-1 2 -3 4 5 -6 -7 -8 -9
1. Convert 89.000 uL to mL

2. Convert 0,98 cL to mL

10.

Convert 648.000.000 uL to cL

Convert 121.900.000 mL to L

Convert 840.000 uL to cL

Convert 87.000.000 uL to L

Convert 0,000647 L to uL

Convert 6,047 cL to mL

Convert 0,00063 mL to uL.

Convert 28,8 L to cL
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Converting Between pl, ml, cl and 1 (E) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base

T giga
centi

+ milli

1 nano

> X

10.

o 2 { mega
w =~ T kilo
N = T hecto
— & T deca
— o T deci
& = T micro

e Q

e
w B
o B

1
\9)
~

1
oo
O

Convert 89.000 uL. to mL

89.000uL -+ 10+ 10+ 10 = 89mL

Convert 0,98 cL to mL

0,98cL X 10 = 9,8 mL

Convert 648.000.000 uL to cL

648.000.000 uL =~ 10 =+ 10 = 10 =+ 10 = 64.800 cL
Convert 121.900.000 mL to L

121.900.000 mL =10+ 10 + 10 = 121.900 L
Convert 840.000 uL to cL

840.000uL +10+ 10+ 10+ 10 = 84cL

Convert 87.000.000 uL to L

87.000.000uL +10+10+10+10+10+10=87L
Convert 0,000647 L to uL

0,000647 L X 10 X 10 X 10 X 10 X 10 X 10 = 647 uL
Convert 6,047 cL to mL

6,047 cL X 10 = 60,47 mL

Convert 0,00063 mL to uL.

0,00063 mL X 10 X 10 X 10 = 0,63 uLL

Convert 28,8 L to cL

28,8 L x 10 x 10 = 2880 cL
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Converting Between ul, ml, cl and 1 (F)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
~ < i T ' ' > X
G M k h dai :d ¢ m W n
9876543215-?":—1-2—345—6789
1. Convert 23.000 uL to mL
2. Convert 0,082 mL to uL.
3. Convert 16 cL to L
4. Convert 0,0082 L to mL
5. Convert 82.730.000 uL to L
6. Convert 4,28 cL to mL
7. Convert 5700 mL to cL.
8. Convert 6.300.000 uL to cL
9. Convert 0,00092 L to uL
10. Convert 67,07 cL to uL.
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Converting Between ul, ml, cl and 1 (F) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base

T giga
centi

+ milli

1 nano

10.

> X

o 2 | mega
o
=

w =~ T kilo
N = T hecto
— & + deca
— o T deci
& = T micro

o Q
)
w
o B

4 -5

~
1

e e)

O

Convert 23.000 uL to mL

23.000 L =10 +10+10 = 23 mL

Convert 0,082 mL to uL.

0,082mL X 10 X 10 X 10 = 82 uL

Convert 16 cL to L

16¢cL+-10+10=0,16L

Convert 0,0082 L to mL

0,0082L X 10X 10x 10 = 8,2mL

Convert 82.730.000 uL to L

82.730.000uL +10+10+10+10+10+10 = 82,73 L
Convert 4,28 cL to mL

4,28 cL X 10 = 42,8 mL

Convert 5700 mL to cL

5700 mL = 10 = 570 cL

Convert 6.300.000 uL to cL

6.300.000 uL =10+ 10+ 10 =+ 10 = 630cL
Convert 0,00092 L to uL.

0,00092L X 10 X 10 X 10 X 10 X 10 X 10 = 920 uL.
Convert 67,07 cL to uL.

67,07cL X 10X 10 X 10 X 10 = 670.700 uL.
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Converting Between ul, ml, cl and 1 (G)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
< o " : o e o
y Ty ° o 8: S 2 = § c
- £ T 2 8 18§ % z 3
-— <4 : —— : : : : > X
G M k h da, *d ¢ m M n
9 8 7 6 5 4 3 2 1:0:i-1 2 -3 4 -5 -6 -7 8 -9
1. Convert 0,00000414 L to uL.
2. Convert 5804 L to cL
3. Convert 0,4128 mL to nuL
4. Convert 236.500.000 uL. to mL

10.

Convert 2.150.000 uL to cL

Convert 9,7 mL to cL

Convert 24.070 mL to cL

Convert 0,00651 cL to uL.

Convert 40.400.000 1L to L

Convert 0,7796 L to mL
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Converting Between ul, ml, cl and 1 (G) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
1 | ]

T giga
centi

+ milli

1 nano

> X

10.

o 2 { mega
w =~ T kilo
N = T hecto
— & T deca
— o T deci
& = T micro

e Q

e
w B
o B

(e)
1
\9)
~
1
oo
O

Convert 0,00000414 L to uL

0,00000414L X 10X 10 X 10 X 10 X 10 X 10 = 4,14 uL
Convert 5804 L to cL

5804 L X 10 X 10 = 580.400 cL

Convert 0,4128 mL to uL.

0,4128 mL X 10 X 10 X 10 = 412,8 uL

Convert 236.500.000 uL to mL

236.500.000 uL =10 = 10 = 10 = 236.500 mL
Convert 2.150.000 uL to cL

2.150.000 uL =10+ 10+ 10+ 10 = 215cL

Convert 9,7 mL to cL

9,7mL =10 = 0,97 cL

Convert 24.070 mL to cL

24.070 mL = 10 = 2407 cL

Convert 0,00651 cL to uL.

0,00651 cL X 10X 10X 10 X 10 = 65,1 uL.

Convert 40.400.000 1L to L

40.400.000uL =10 +-10+-10+-10+10+10=404L
Convert 0,7796 L to mL

0,7796 L X 10 X 10 X 10 = 779,6 mL
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Converting Between ul, ml, cl and 1 (H)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base

+ = e = > X
G M k h dai 'd ¢ m 2 n
987654321:_?“5-1-2-345-6789

1. Convert 0,0000099 L to uL.

2. Convert 674.000.000 uL to L

3. Convert 0,18 cL to uL.

4. Convert 284.800 mL to L

5. Convert 25.000 mL to cL

6. Convert 74.500.000 uL to mL

7. Convert 0,923 mL to uL.

8. Convert 0,001385cL to uL.

9. Convert 0,0867 L to cL

10. Convert 451 mL to cL
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Converting Between ul, ml, cl and 1 (H) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base

T giga
centi

+ milli

1 nano

> X

10.

o 2 { mega
w =~ T kilo
N = T hecto
— & T deca
— o T deci
& = T micro

e Q

e
w B
o B

1
\9)
~

1
oo
O

Convert 0,0000099 L to uL

0,0000099 L X 10 X 10 X 10 X 10 X 10 X 10 = 9,9 uLL
Convert 674.000.000 uL to L

674.000.000uL -+10+-10+10+10+10+10=674L
Convert 0,18 cL to uL

0,18 cL X 10 X 10 X 10 X 10 = 1800 uL

Convert 284.800 mL to L

284.800 mL - 10 +10 +10 = 284,8 L

Convert 25.000 mL to cL

25.000 mL = 10 = 2500 cL

Convert 74.500.000 uL to mL

74.500.000 L. = 10 = 10 = 10 = 74.500 mL
Convert 0,923 mL to uL.

0,923 mL X 10 X 10 X 10 = 923 uL.

Convert 0,001385 cL to uL.

0,001385cL X 10X 10X 10x 10 = 13,85 uLL
Convert 0,0867 L to cL

0,0867L x 10 X 10 = 8,67 cL

Convert 451 mL to cL
451 mL =10 =45,1cL
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Converting Between ul, ml, cl and 1 (I)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

10.

Base
. — o
5 & ° 5 g ig EE g £
"Bh S % & <' s 8 E £ =
: : — : : > X
G M k h da, *d ¢ m M n
9 8 7 6 5 4 3 2 15 -1 2 3 4 5 6 -7 -8 9

Convert 0,3868 L to uLb

Convert 4.848.000.000 uL to L

Convert 569,2 mL to uL.

Convert 9800 mL to L

Convert 25.930.000cL to L

Convert 770.600 mL to cL

Convert 67.700.000 uL to cL

Convert 0,55 cL to uL.

Convert 2,278 cL to mL

Convert 0,0123 mL to uL.
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Converting Between pl, ml, cl and 1 (I) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
b o L o
S S ° § §i ig §E g 2
Bo g Z 2 91 15 8§ § g g
-— <4 : i : : —» X
G M k h da, *d ¢ m 3 n
9 8 7 6 5 4 3 2 1:0:i-1 2 -3 4 5 -6 -7 -8 -9
1. Convert 0,3868 L to uL

10.

0,3868 L X 10 X 10 X 10 X 10 X 10 X 10 = 386.800 uL
Convert 4.848.000.000 uL to L

4.848.000.000pL -+10+-10+10+10+10+10 = 4848 L
Convert 569,2 mL to uL.

569,2mL X 10 X 10 X 10 = 569.200 uL

Convert 9800 mL to L

9800mL +10+10+10=9,8L

Convert 25.930.000 cL to L

25.930.000cL =10 =10 = 259.300 L

Convert 770.600 mL to cL

770.600 mL = 10 = 77.060 cL

Convert 67.700.000 uL to cL

67.700.000 uL - 10+ 10+ 10+ 10 = 6770cL
Convert 0,55 cL to pL

0,55cL X 10X 10X 10 x 10 = 5500 uL.

Convert 2,278 cL to mL

2,278 cL X 10 = 22,78 mL

Convert 0,0123 mL to uL.

0,0123mL X 10 X 10 X 10 = 12,3 uLL

Math-Drills.com




Converting Between ul, ml, cl and 1 (J)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base

<+ 4 = S The = = > X
G M k h dai 'd ¢ m 2 n
987654321:-5)“5—1-2—345—6789

1. Convert 0,11 cL to uL.

2. Convert 338.000 uL to mL

3. Convert 0,000549 cL to uL

4. Convert 5.700.000.000 uL to L

5. Convert 967.000 uL to mL

6. Convert 126.500 mL to cL

7. Convert 7,7 cL to mL

8. Convert 9145cL to L

10.

Convert 0,00000021 L to pL

Convert 2,758 L to mL
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Converting Between ul, ml, cl and 1 (J) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
1 | ]

T giga
centi

+ milli

1 nano

> X

10.

o 2 { mega
w =~ T kilo
N = T hecto
— & + deca
— o T deci
& = T micro

e Q

e
w B
o B

(e)
1
\9)
~
1
oo
O

Convert 0,11 cL to uL.

0,11cLX10Xx10x10x 10 = 1100 uL

Convert 338.000 uL. to mL

338.000 uL =10 =10 = 10 = 338 mL

Convert 0,000549 cL to uL.

0,000549cL X 10X 10X 10 X 10 = 5,49 uL.

Convert 5.700.000.000 uL to L

5.700.000.000 u.L =10 +10+10+10+10+10 = 5700 L
Convert 967.000 uL to mL

967.000 uL =10 =10+ 10 = 967 mL

Convert 126.500 mL to cL

126.500 mL =~ 10 = 12.650 cL.

Convert 7,7 cL to mL

7,7cL X 10 = 77 mL

Convert 9145cL to L

9145¢cL +10+10=9145L

Convert 0,00000021 L to pL

0,00000021 L x 10 X 10 X 10 X 10 X 10 X 10 = 0,21 uLL
Convert 2,758 L to mL

2,758 L X 10 X 10 X 10 = 2758 mL
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